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ELECTRICAL & ELECTRONICS ENGINEERING

PART-I
fratfe g Yaver) - [ftreman 3 : 30
Time allowed : V2 Hour] [Maximum Marks : 30
H: () Wi dbEr § e rew el de e

Note :

1.

All Questions are compulsory and each question is of 1 mark.

(ii) #wﬁ#mﬁ#aﬂﬁaﬁ#maﬁwﬁwé !
Only English version is valid in case of difference in both the languages

oo R e T BT B §

(@) Forew o= saame §

(b) uifw ot Y g St o AR
¥ R

o) o o i e s

¥ g
) mﬁ_%eﬁ%wﬁ |

. Wir F s g ¥
(@ ¥ (M) FEA
) IRA (d) g

St et & o F iR € =en

fereger = o dard
(@) Ywia =

) @& e fEan s

(c) TR ifa fran &=

(d) W

. An electric motor is used for

(a) generating electric energy.

{b) changing mechanical energy to
electric energy.

(c) changing electrical energy to
mechanical enérgy.

(d) None of the above.

The brushes of d.c. machine are made
of

(a) Brass ~ (b) Carbon
(c) Iren (@ Mica

The e.m.f. induced in the armature of
d.c. motor is

(a) Backemlf.
() Self induced e.m.f.

() Mutually induced e.m.f. '

(d) None of these.
P.T.O.
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4.

10.

@ =

# # w14 e P w e

(a) A

(b) R R
(c) VMo
(d) i avor

aRenfir =t gear ol &
@ 50% b 60%
(© 80% @ 95%

RIS YRS 1 Zrawciee ST
() wadwIw

(b)) THF TR
(c) ¥ i

d) =

ﬁmﬁzﬁrﬂzﬂ%nﬁrmﬂﬁw
(@) TRERE 1 (b)) et
() ®=adet | (d) smiwett

% Praeii SRoT Aiet wrd et &
(a) el S w

®b) FETTH W

© v wEddHw
(d) SHF T HiE T

gmn’lzrﬁﬂaﬁﬁmﬁﬁmﬁvh
b)) &
@ 05 @ 2

=1 7 @ 9 i e A frrer F g
i |

(a) fiort vy @ ST sex

(b) TEHA IR Hex

(c) ¥ Hex

(@) e far deor wiex

@

10.

() 05

2081

The principle of operation of
transformer is based on
(a) Self induction

(b) Mutual induction
(c) Static induction
(d) Dynamic induction

The efficiency of transformer is
@ 50% (b) 60%
(© 80% d) 95%

For step-down transformer the

transformation ratio is
(@) less than one

(b) equal to one

(¢) more than one
(d) zero

The speed of rotor of an induction

motor is always synchronous
speed.

(a) equalto (b) more than
(¢) lessthan (d) halfof

A three phase induction motor works
with
(a dc.only -

~(b) a.c.only
. (¢) a..andd.c. both

(d) None of these

At start, the slip of induction motor is
(a) zero (b) one
@ 2

Which of following motors is used
for rolling mills ?

(a) Squirrel cage induction motor
(b) Single phase induction motor
(¢) D.C. motor

(d) Slip ring induction motor
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“11.

12.

13.

14.

15.

16.

17.

P & @ firg Wi & Rt aReEdHE de
Ty ? |

(a) T

(b) w7

(c) Y wwiE

(@) fufer wim

ﬁmm%ﬁﬂm%:

@) IR F § g

W&t =1 v e S agrd @ = f

3w

(a) ToHIE RO
(b) T e R E

(c) Tt wiw s g &
(@ IR

Rt

~ (a) et e

(b) VT Ty
(c) wadsd &
@ sfas

TR zE # W oR aet e
(a) Wfww (b) R
(c) SR - @ ¥

it o =i ok
(@) Ve ®) Fat
© e (@) wiEA
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11.

12.

13.

14,

15.

16.

17.

- . 2081
Which of the following machine has
heavy fluctuating load ?
(a) Planner
(b) Lathe

(c) Punching machine
(d) Printing machine

Which of the advantage of electric
heating ?

(a) Free from dirt

(b) Absence of flue gas

(c) Temperature control

(d) All of the above

In indirect heating method, maximum
heat transfer takes place by

(a) Conduction

() Convection

(c) Radiation

(d) None of the above

The material of the heating element
for a furnace should have

(a) higher melting point
(b) lower melting point
(c) high specific resistance
(d) Alloftheabove -

Candela is the unit of

(a) Luminous intensity
(b) Luminous flux

(c) Wavelength

(d) frequency

Gas filled in fluorescent tube is

(a) Helium (b) Argon
(c) Oxygen (d Hydrogen
Unit of solid angle is

(a) Radian (b) Degree

() Radian/metre (d) Steradian
P.T.O.
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18.

19.

20.

21

22.

23.

24.

Tt wRr R ¥ g few 43 o swE
T fear s &9 |

(a) T SR T

(b) IRUT WHR THIEY

(©) &%WE&WWW

(@) mﬁrﬁzxmqﬁa

FAE ) et feww =t At &
(a) J=H b =T
€ TR (@) drew

WA SR, # e tFr A e ¥ 0
(a) T ¥ie (qe) ,

(b) Tt

© ¥

d) W

sHfER % fg wiireT waet A dar
(a) 03eV b 35eV
() 0.72eV d 1li1ev

T N-W&R ®1 e qotear gar &

(a) wIw smEAkE

(b) TTE SRR

(C) HAISTE AT FONTHH RN ST
W ik

(d) =T ()

Baﬂm%mvﬁm%
(@ PB=

1+0

® B=""

1+a
o

() *T—a

v & few Rem § ey
SeYe wfeiy gen ¥ 2 |

(@ CC ’

(b) CB

(0 CE

(d) I

d oa=1+p

18.

19.

20.

21.

22,

23.

2081

Which of the instrument cannot be

used to measure a.c. current ?

(a) Moving iron ammeter

(b) Induction type ammeter

(c) Permanent magnet moving coil
type ammeter

(d Dynamometer type ammeter

In energy meter the rotary disc is
made of

(a) Iron (b) Copper
(c) Aluminium (d) Tungsten
LVDT windings are wound on

(a) Steel sheets (laminated)
(b) Aluminium

(c) Ferrite

(d Copper

The forbidden energy gap for
germanium is

(@ 03ev (b) 35ev

(©0 072eV d 1llev

An N-type semiconductor as a whole
is

(a) Positive charged.

(b) Negatively charged.

(c) Positively or negatively charged

depending on dopmg
(d) Neuntral.

The correct relation between B and o
is

: | 1
@ BaT,g ® B=—yt
© [3=T'_—a" @ o=1+p
In which configuration transistor has
highest output resistance ?
@@ CC
() CB
(¢ CE

(d) None of these -
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T 28,

27.

28.

29.

30.

(c) derdairer

fedtienr e wmiraean forg fe w0
e . |
(a) W () T
d 3ww

ﬁwﬁﬁaﬁﬁmzﬁaﬁaﬁz%? |
(@ OR (b) NOR
(¢) AND (d NOT

o T Aeest By W R AT e
F @@ AR 9 w0 F T
(a) Y Rad aws

(b) s AT AR

(¢) 3o uffe ateRst

(d) I A @ o T

o fet e F S ya b
(a) Tet o & o

(b)) MRE W F A

(© s, wee ¥ ww
@ THINET

mmﬁwﬁmmw
TG T B & T

(a) v smgfa = wilew s
(®) . et someh

() W gf g

) fw=E

T3 AR F ARy

(a) VMU RaPAE |

(b) TERT TEA WHT BT € |

(c) vaTer TE WY SaRafi war & 1
@ SR I

®

25.

26.

217.

28.

. 29,

30.

2081
On which system the digital system
usually operates ?
(a) Binary (b) Decimal
(c) Hexadecimal (d) Octal

Which of the following is universai -
gate 7
(a OR

| (® NOR
(c) AND

(d NOT

The applied voltage at which SCR
conducts heavily without gate voltage

(a) Peak reverse voltage
(b) - Break over voltage

. (c) Open circuit voltage

(d) None of the above

Time delays of the order of minutes
are possible with

(a) Delay line

(b) Resonant circuit
(¢) RCcircuit

(d) None of these

The major advantage of a photo
transistor as compared to a photo
diode is its

(a) Response to higher frequencies
(b) A.C. operation

(c) Increased sensitivity

(d) Durability

The resistance of LDR

(a) Increased when light falls on
them. ‘ v

(b) Decreased when hght falls on
them.

(© Unchanged when light fa]ls on
them,

- (d) None of the above.

P.T.O.
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ELECTRICAL & ELECTRONICS ENGINEERING
I’ \RT-11

ﬁﬂiﬂ'ﬁ‘mﬁﬂﬂi‘] [Hftreram 3t : 70
Time allowed : Three Hours] ' - [Maximum Marks : 70

We: (i) wewve afard & o o A ahe & s ARR |
Note : Question No. 1 is compulsory, answer any five questions from the remaining.
(ii) TR T & a5 wER g A s R |
Solve all parts of a question consecutively together.
(iii) AT 7T B T 75§ ARAT BT |
Start each question on a fresh page.
(iv) 1 swrsi & s gin # Rty F ginisit srarm gt = &

Only English version is valid in case of difference in both the languages.

L @ QN d o & T @t i syt o el ¥ 2
Why starter is needed in d.c. motor starting ?

(i) ofonfim # W sde Fwiadf o
Why transformer’s rating in K.V.A. ?
(iii) AR qre & JoEm fafed |
Write the applications of dielectric heating. -
(iv) . # gew Ruw T |
Draw equijvalent circuit of UJT.
) vEHaR. fafrei o w=i e € 2 |
Why is the S.C.R. made of Silicon ? (2x5)

6) P.T.O.
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2.

®

(i)

(ii)

®

(ii)

S, vie Hiet & sl @ vl Fiig T Sw s fifag |

Describe the characteristics of D.C. shunt motor and write its applications.

uitonfirs & g uftew wigor wt arifire Rl @ el $ife |

Describe the practical method of short circuit test in transformer. o (6x2)

R e TR BT SR He et ) Pl v vl ) e e o s |

Describe the method of starting of induction motor by using star-delta starter and
make suitable diagram. '

T TR 5 G Y et F ey e ey e |

- Write the advantages of electric heating over other types of heating. (6x2)

wiius ¥ Wt Fe uet ®t wRonfye wifeg
Define the following terms related with illumination :
(a) Fee iR
Candle Power
® =
Lumen
(c) wfea
Steradian
@ = e
Beam Factor
(e). o Tgwm
Lamp Efficiency
(f) SR T
Maintenance Factor
IROT YR Y T FAE S w5 gt g e s AR gR W |
Explain the principle and working of single-phase induction type energymeter
with suitable diagram. » (6x2)

.PoToOo
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5. @)

(ii)

6. @

(ii)

7. (@

(ii)

m?awmﬁgrﬁmr%ﬁéw@ﬁﬁamw@m |

Draw and explain the input and output charactenstlcs of a CE transistor
configuration.

WHAR, F V-1 S i mmm |
Explain V-1 charactensucs_of SCR with suitable diagram. 6x2)

TeeieT F1 fag, Woae v SRR wHeE |

Describe the principle, construction and working of multimeter.

o gl WY ST A S T O el e |
Describe the construction and working of high pressure mercury vapour lamp. (6x2)

NAND-NAND %Rt &7 5 %% §¢ AND 7 OR ZRI #t #7182 |

Draw AND & OR gates using NAND-NAND gates.

TTET aRuY i ST TE BRI aee |

Explain the necessity and working of snubber circait. : (6>2)

8. Frad & Reft ot w org feifiralt Rl -
Write short notes on any two of the following :

®

(i)

R e — i P v
Solar Cells - workihg principles and applications

il afera we fyera Rt
D.C. operated time delay relay

(i) TR

Megger | 62)



